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Multiplikationsaufgaben umschreiben

Stelle fest, wie man die gezeigten Gruppen als eine Multiplikationsaufgabe ausdr ticken

konnte.
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Antworten
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Multiplikationsaufgaben umschreiben

Name:

L dsungsschltissel

Stelle fest, wie man die gezeigten Gruppen als eine Multiplikationsaufgabe ausdr ticken

konnte.

Bsp) (o ([ve (ve ([ve ([ve ([ve (e [ve ([ve (oo
Vo (vo| (vl vy |ve (vl vl |ve |[ve |ve
vy (o |vel vy vy vyl vl vy vy |ve
vy (vo (vl vy |vel (vl vl [ve |[ve |ve
® L) L) L) L) ) ) ) v v

1) (00] (00} (o0o) (00) (0 0] (0
ool (o0 |[oo| |oo| |oof |00
ool (o0 |[oo| |oo| |oof |00
ool (oo |[ooo| ool |oof |00
0 0 0 0 0 0
) (+4] [+4] [++
+ + +
+ 4+ |+ 4+ |+ +
+ 4+ |+ |+ 4+
+ 4 |+ |+ 4+
3 (@] [Q] [Q] [Q] [Q] [Q] [Q] [Q] [©
o o o o o o o o V)
o o o o o o o ) V)
o o o o o o o ) V)
4 (o)l o] [O] [C)l [O] [O] [O] [O
O O O O O O O O
O O O O O O O O
O O O O O O O O
5)
Al A A
Al A A
6) (o] [oo] ool (0ol [oo] (ool [oo] [oo0
ool ool |[oo| ool ool ool |loo] |oo
ool ool ool ool ool ool |loo] |oo
ool ool ool ool ool |loo|l |oo] |00
) (2 %] [ =] [# %] [+ %] [« =
Y DA g DA g ¥ Y DA g
Y % W Ox W% W Ox PAGIR A ¢
Y % W Ox W% W Ow PAGIR A ¢
8) (O O O O O
ool ool Do Do Do
ool ool Do Do Do
ool Dol Do Do Do

1

Bsp.

Antworten

10-9=90

6°9=54

3:9=27

904=36

804=32

3¢2=6

8+8=64

5°8=40

5 /=35

[ Mathe ] www.CommonCoreSheets.de

1-8 |88|75|63]|50]38]25[13] 0 |




	Worksheet
	Lösungsschlüssel

